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(1) sinf.cos 8 =2 (I 2019)

(A) 1 (B) 0 €)= (D) V2
(2) 1 + tan?0 = &t @= 2019)

(A) cot?0 (B) cosec?6 (C) sec?8 (D) tan?0

(3)SXsin @ ——HT = ST & cos O =t fohud Fer (Hlt{ 2022)
(4) sin 6 = cos O T O = 79 Tohdi? (W= 2022)
(5) SR 3sin 6 = 4cos 0 T tan@ = fhua e (W= 2022)

(6) tan =+/3 I8 X O =i fehme et (@=L 2021)
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(1) ST sin 0 = g T R 3w 67 cos 0 3T tan@ =it fhua F1eT? (Tar 2021)

(2) T Shl TohT FUTEA 80 HIST STTeR 3T 3118, AT eI <re=a1 SdTehs Ulgel 3THAT 450
T ST i< BidT; a¥ == S 1T, (W 2020)

(3)SX cos 8 =1—53?Rsin 6 =it fohHa FTeT? (S[et 2019)
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(4) S sec 6 =27F|T tan O = fhud 1ET? (A= 2019 - 2020)



1—cos A

(5) fag = o, ~cosec A—cot A (TS 2021)
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DRgFT: |20 ecn —t 0 (S 2019
(1) " 1+sin6 sec an vy )

Q) fag =0 : cotd + tan 6 = cosech. secO (A 2022)

1
secO—tanf
tanA cotA
(1+ tan2A4)2 (1+ cot?A)?

(3) = secH + tanf (AT 2020)

=sin A .cos A (W= 2022)
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(5) SR, sin 0 + sin@ = | WIM@aT I, cot?0 + cot* =1

(6) T TS STEAAT HETHNT UehT HA =TT de3Tehs ST, A==l ST 48 T T8, A==t
AT IHIITET HEMTTae & HICRehe UTEdTT B9 3Tad ShiF STsRH 30° T 60° AT, T T
Hierimefer star fhedt 2 (V3 =1.73) (1. 20)
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ST ATST=AT SEATITE 12 HieT ek Hu=a1 (ierenrd Frer=41 gAThS IEdHT 60° HIT=I
I~Td I AT AT, TR ST I e, (V3 = 1.73) (W '19)




